Thanksgiving Numbricks

FILL GRID WITH THE MISSING NUMBERS FROM 1 TO 36 AND MAKE A CHAIN OF
CONNECTING NUMBERS THAT FORM A CONTINUOUS PATH. THE NUMBERS MAY
CONNECT BOTH HORIZONTALLY AND VERTICALLY, BUT NOT DIAGONALLY.
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Answers

FILL GRID WITH THE MISSING NUMBERS FROM 1 TO 36 AND MAKE A CHAIN OF
CONNECTING NUMBERS THAT FORM A CONTINUOUS PATH. THE NUMBERS MAY
CONNECT BOTH HORIZONTALLY AND VERTICALLY, BUT NOT DIAGONALLY.

l6 115|110 9| 8| 7

17114111 4| 5| 6

1813 ]12] 3 2@

19124 125(26|29] 30

20 2327 28 | 31

21 (2235343332

30(29(24 23| 18|17 35134133132 15| 14
3112825221916 2930|3116 13
3212726212015 2712811918 |17 12
33(34(35(12| 13| 14 26 (21201 5| 6|11

copyright: www.mathinenglish.com



